(Etel © &)
Ao & 4 = o & A 2 2 49
2 2 H(A) 7,798,200 = & JH(A") 6,450,300 = & AHA'") 15,100,000
ooy A0l 7,501,634 ooy A0l 7,501,634
o4 91 9| 40 296,566 EEEE 296,566
S0/2 0 S0/2 0
JEToI2 800,000
A A0 e= 51,500
WEEIIEOI =2 0
SN EZ 0| EXAALYZ 0
SE AN E 0| REXAIYE 0
JIEtHl s s AHAtH 2 0| JIEtHI RS A& & 0
AREEMe 0 R 0
HRs2Mse 0| HRs2iM-e 0
A=2=2 0| 22+ 0
=R 6,450,300 | Xt=2l 0§ 222 6,450,300
JIEt A28 ¢ 0 JIEt =& 0
X & 3H(B) 6,466,735 XN = AH(@B') 8,633,265 X = JAH@B'') 15,100,000
Aoy 2 6,126,665 Aoy 6,126,665
g2 191,300 gyl 191,300
Sges 0 Sges 0
UE SOl 0fl &t 0
JEC0IXSH 0
HEE0IXNS2 0
SENXAFH S 0| EXAARS 0
SERAFS 7,632,520 | RS AL S 7,632,520
SPELI|EHI RS Aot 0| RHEHLUDIIEIHI S = A&t 0
HIOIS&H| XA S 0| BIJIs&BlIA&FHS 0
RS2 AE 0| Fs2Has 0
Hl 7SSl AS 810,000 | H| RS2l A&t 810,000
JIEtXAE2H X & 0| JIEtAEE K= 0
olldld] 148,770 | 0l 5| Y| 190,745 | 04l 0| 4| 339,515
Xl QI(A - B) 1,331,465 X QI(A' - B") A2,182,965 X oI(A' - B'") 0




